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:sle Miad counters proportional Jee 4SS (2
Excitation of electrons - (1
Ionization of electrons + (2
Transition of electrons - (3
Transformation of electrons - (4
3) current charge(q) = number of electrons / electron charge
1) - =
2) + U
4) time(t) =resistance( R) x electron charge
1) - =
2) + U
5) Which of the following is radioactive:
1) - H-=2
2) - Li-6
3) - B-10
4) + C-13
Z IR el Ll (2 a3 13 Ui s Lelas (4e laal Widail (6
z= -
Wad -+ 2
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Nuclide - (1
Nucleon + 2
Neuclus - (3
Neutron - 4
Lei il & s il axe i Wl [sotopes sl (8
o= - (1
La + (2
Ble w8y - @3
e i & s il aae i Wl [sotones iadll (9
s - (1
= S (2
Ble gy - (3
e el Q A punal) Al A8l dad () 5<5 Ladie endoergic s Jelall o5& (10
c= - 0
W+ 2
11) Am= X atomic masses of the products - ¥ atomic masses of the reactants
1) - =
2) + U
12) amu=
1) - 93100000 ev
2) - 3910000 ev
3) + 931000000 ev
4) - 931000ev
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ot Lmny (e 3l i S Jomdl e D0 A3 (13
Q - [
Ve - (2
B.E + (3
Ea - 4

GESH aaal i ) il (14
Isobars = + (1

Isotopes - 2
Isomass - (3
Isotones - 4
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Ly + (1

falaay) - 2
delawy - €]
Lls cleled) jual - 4
33 815 () i R s sl Ll Cami bl (16
dsallag, s - (1
ibgaadlll - 2
W) dailaiesl gl - (3

Nl + 4

(s A palie U Jelill L Aa1all jealiall g il s Caaay Ul 4y sil) el 3 (17

= Tt (1
s - Q
Andiall pualiall jrae 400 (el &l e sl (18
odd-odd nuclides except 6 elements = + (1

Z<83 - (2
Z<n - (3
have magic numbers - (4
...................... Dl ) Jaai 31 3l )l Ay ) 8N Aad e JB p/n A IS 1N (19
gamma radiation - (1
Positron emission  + (2
negatron emission - 3
Alpha particles - (4
...................... Dl ) a3 i) lé A ) ) dad e ST p/n dad S 1A (20
gamma radiation - (1
Positron emission - 2
negatron emission  + (3
Alpha particles - (4
50 all da o g Jarally oy JS0 i 4500 clelall (21
o= - (1
La + (2
81 ) 1l 3353 (3 54555 JS) (5 5 i) )01 B e i nd (22
= Tt (1
s - Q2
dadia e 55 jfiue 3 A1 O 3 nucleon/E.B dedl Laiiial dadll (23
ce - 0
s+ 2
radioactivity (8 Claa s e Cad (24
Curi - (1
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dpm -
Bq -
Mev +
25) Specific Activity is the Activity produces of 1g of the radioactive element
1) +T =
2) - s
s e gLl Ay i) Alaliil) ey ) sduall jee Clua sl (26
U-238  + (1
C-13 - (2
Cc-14 - 3
U-235 - (4
209-Pb (aball piall ylailly o35 o sl sl JIas Judls e (27
= -
La + (2
) have the lowest specifec ionization:
1) - Alpha
2) - Beta
3) + Gamma
4) - X-ray
- plaia ¥ o il gLl i e Jlsll (29
gedl dile Jlaaomy - (1
#MY\QM\M&EA%WM\ - (2

ey F 3

e -
Uad + (2
Aaiiall e 4 e Sl Aill LYl e (31
= G (1
L - Q
e St sSB1 s 1Y Aaal Jaeatl A 3 ALY (32
Q -
Ve + 2
BE - (3
Ea - (4

g sl e Ly il () 6858 jTinal) pualiall 5 60% (33
even-even + (1

odd-odd - (2
even-odd - (3
nothing - (4
s 1)t bl ST (34
Al-27 - (1
Fe-56 + 2
Cu-63 - 3
Ag-107 - 4
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